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 is the third person singular present active indicative from the verb LEGW, which means “to say.”


The present tense is a historical present, which describes a past event as though happening in the present to draw the reader/listener into to action as though they were there.  It is translated by an English past tense: “said.”


The active voice indicates that one of the slaves of the high-priest produces the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the nominative subject from the masculine singular cardinal adjective HEIS with the preposition EK plus the ablative of the whole from the masculine plural article and noun DOULOS with the possessive genitive from the masculine singular article and noun ARCHIEREUS, meaning “One of the slaves of the high-priest.”

“One of the slaves of the high-priest,”
 is the predicate nominative from the masculine singular adjective SUGGENĒS, which means “belonging to the same extended family or clan: related, akin to Jn 18:26.”
  We call this person “a relative.”  Then we have the appositional nominative masculine singular present active participle from the verb EIMI, which means “to be: being.”


The present tense is an aoristic present, which describes the present state of being as a fact.


The active voice indicates that one of the slaves of the high priest produces the state of being a relative of Malchus.


The participle is circumstantial.

This is followed by the genitive of relationship from the masculine singular relative pronoun HOS, meaning “of the one whose.”  Then we have the third person singular aorist active indicative from the verb APOKOPTW, which means to “cut off.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that Peter produced the action.


The indicative mood is declarative for a simple statement of fact.

With this we have the nominative subject from the masculine singular proper noun PETROS, meaning “Peter.”  Then we have the accusative direct object from the neuter singular article and noun WTION, meaning “ear.”  Literally this says: “being a relative of the one whom Peter cut off his ear.”  This can be smoothed out into common English as:
“being a relative of the one whose ear Peter cut off, said,”
 is the negative OUK, meaning “not” and expecting a “yes” answer (“In Greek this is done by beginning questions with OU or OUCHI if the speaker expects a ‘yes’ answer and MĒ or MĒTI if he expects a ‘no’ answer.”
).  With this we have the nominative subject from the first person singular personal pronoun EGW, meaning “I.”  Then we have the accusative direct object from the second person singular personal pronoun SU, meaning “you” and referring to Peter.  This is followed by the first person singular aorist active indicative from the verb EIDON, meaning “to see.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that the relative of Malchus produced the action.


The indicative mood is an interrogative indicative, which is used in questions that can be answered by providing factual information.

Then we have the preposition EN plus the locative of place from the masculine singular article and noun KĒPOS, meaning “in the garden.”  Finally, we have the preposition META plus the genitive of association from the third person masculine singular personal use of the intensive pronoun AUTOS, meaning “with Him” and referring to Jesus.
“‘Did I not see you in the garden with Him?’”
Jn 18:26 corrected translation
“One of the slaves of the high-priest, being a relative of the one whose ear Peter cut off, said, ‘Did I not see you in the garden with Him?’”
Explanation:
1.  “One of the slaves of the high-priest,”

a.  Even though the Greek clearly uses the word for slave, the Jews were not permitted by the Mosaic Law to have Jews as ‘slaves’ after the Exodus.  However, they could have non-Jews as slaves.  In addition, we should not think of this person in the sense of the slavery that existed in the United States prior to the Civil War, but rather in terms of the voluntary indentured servants that worked to pay off some debt, as they did in England and the United States in the 18th century.  We would think of this person more as a household servant.

b.  The fact this person is only ‘one of the slaves’ indicates that the high priest had many people working for him, just as the President of the United States has many people working for him.


c.  The high priest mentioned here is Caiaphas (verse 24).

2.  “being a relative of the one whose ear Peter cut off, said,”

a.  John then tells us that this slave of the high priest was a relative of Malchus (verse 10), another slave of the high priest.  This tells us that this entire family was probably serving the high priest.  We are not told what the relative relationship was, since that is not important.  What is important is that this servant knew without a doubt who his relative was, and therefore, is now realizing without a doubt who Peter is.


b.  This person is part of the group mentioned in the Matthew and Mark accounts.



(1)  Mt 26:73, “A little later the bystanders came up and said to Peter, ‘Surely you too are [one] of them; for even the way you talk gives you away’.’”


(2)  Mk 14:70, “And after a little while the bystanders were again saying to Peter, ‘Surely you are [one] of them, for you are a Galilean too’.”


(3)  Lk 22:59, “After about an hour had passed, another man began to insist, saying, ‘Certainly this man also was with Him, for he is a Galilean too.’  But Peter said, ‘Man, I do not know what you are talking about.’”  Note that this person is a man.


c.  This relative of Malchus then challenges Peter with a question.
3.  “‘Did I not see you in the garden with Him?’”

a.  Another way this question could be asked expecting an affirmative answer is: “I saw you in the garden with Him, didn’t I?”  The man expects a ‘yes’ answer from Peter.  This question begins with OUK, which expects an affirmative answer.  The previous questions of Peter began with MĒ, which expected a negative answer.


b.  This question is no longer non-threatening, but now has become very threatening to Peter.  Terror is beginning to creep through Peter’s soul.


c.  The relative of Malchus was in the garden of Gethsemane and saw Peter cut off the ear of his relative.  Now he recognizes Peter as the man who did it.  There is almost no doubt in his mind.  Considering all the torches and lanterns that were brought into the garden, the man certainly got a good look at Peter in the garden.  However, the dim light produced by a charcoal fire made it difficult for the man to recognize Peter as they sat around the fire.

4.  Commentators’ comments.


a.  “The two questions addressed to Peter were quite different.  The first was tentative, as though expecting him to deny that he had a relation to Jesus; whereas the second pinned him down, the very form of the question assuming his guilt.  He was now recognized as the one who had wielded the sword in the garden.”


b.  “This staggering and sudden thrust expects an affirmative answer by the use of OUK, but Peter’s previous denials with the knowledge that he was observed by a kinsman of Malchus whom he had tried to kill drove him to the third flat denial that he knew Jesus, this time with cursing and swearing (Mk 14:71=Mt 26:73).  Peter was in dire peril now of arrest himself for attempt to kill.”


c.  This relative of Malchus “challenged Peter with the most specific (and dangerous) accusation of all.  Being a disciple of Jesus was not a crime as of yet, but assaulting a man with a sword was.  Panic-stricken, Peter emphatically denied for the third time any knowledge of Jesus.”


d.  “The third question came from one of Malchus’ relatives!  The Greek construction indicates that he expected an affirmative answer: ‘I saw you in the Garden with Jesus, didn’t I? Yes, I did!’  After all, this man had gotten a good look at Peter because he was probably standing with Malchus when Jesus was arrested.  Some of the bystanders took up the discussion (Mt 26:73; Mk 14:70) so that Peter may have been surrounded by challengers.”


e.  “John’s knowledge is detailed and exact.  He knows that the man whose ear Peter cut off is the servant of the high priest Annas, and that his name is Malchus.  He even knows that this other man is a relative of Malchus and was present in Gethsemane.  John probably also knew this man’s name.  While he does not say that this man saw Peter slash at Malchus, the implication in the relative clause is that he did see the act.  What John reports thus attests itself.”
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